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77& Enter Two-Way Table L= =

[ 2
Murber of Columns: ! | 2

Murber of Fows:

Enter counts:

PTL |noPTI
LBw |18 4
ELBW |12 114

Compute Percentages

Fiow percentages

Column percentages ©

Percentages of tatal

Mo percentages o

Hypothesiz Tests

Chi-square test of independence W

Components of chi-square statistic

Print expected frequencies v
Fizher's exact test [
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Cutput Window

> .Teat <- chisg.test(.Table, correct=FALSE}

¥ Teat
Pearzon's Chi-=sgquared teat

data: .Table
X—squared = 13.759, df = 1, p-value = 0.0002078

> .Teatfexpected # Expected Counts
PTL no PTL

LEW 9.36508 49.63492

not LBW 20.63492 109.36508

*r& Enter Two-Way Table

L1 2
MHurmber of Columne:; I | 3
Enter counts:

Wihite |Black | Other

LBWw |23 11 2h

ELEW |73 15 44

Compute Percentages

Murnber of Fows:

Fiow percentages
Colurmn percentages
Percentages of tatal
Mo percentages 0

Hypothesiz Tests
Chi-square test of independence W

Components of chi-square statistic [

Print expected frequencies v
Fizher's exact test 3
k. Cancel I

Help I

¥ ;Iest <= ghisqg.test|:Table;

¥ ;Iest

Pearson's Chi-squared test

data: .Table

X-zquared = 5.0048, df = 2, p-value

» ;Testhexpected §# Expected Counts
White Black Cther
LEW 29.96825 6.116402 20.91534
not LEW 66.03175 17.883598 46.08466

> remove |.Test)

correct=FALSE)

0.




Hurber of Baows: l | 2
MHumber of Caolumns: | 2

Enter counts:

Effect:|Mone Output YWindow
Drug g2 £
DrugEJil 3 > fisher.test(.Table)
Compute Percentages
Fiow percentages Fizher's Exact Test for Count Data
Column percentages paeegs Table
Percentages of total p-value = 0.2418
Mo percentages i alternative hypothesis: true odds ratio is not equal to .
' 95 percent confidence interval:
Hypothesis Tests 0.2042015 390.8941497
Chi-zquare test of independence [ sample estimates:
Components of chi-square statistic [ odds ratio
S.206688
Frint expected frequencies 2
Fizher's exact test "2
k. Cancel ] Help I
Chi-squared distribution
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